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5.3.1 Compressor Overhaul Interval and Operation Conditions 
The recommended overhaul interval is shown in the table below as a guideline. Preconditions  (1) The operation conditions are within the specified range of use.  (2) Number of start/stop cycles is within the specified range. Rotation speed is higher than 1200min-1,   (3) Valve plate is “N3” type.  (4) Discharge valve cage is “T1” type. 
 
 
Table 5-5 Guideline for the overhaul interval Rotation Speed (N) Range (min-1) Overhaul interval 
800≤N<1200 Whichever comes first: Operation time of 16000 hours or 2 years 
1200≤N<1500 Whichever comes first: Operation time of 8000 hours or 2 years
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